


RI=200kQ. R2=250KQ, R3=500KQ, Rf=IMQ,

¢ Calculate the output voltage of a summer. Given 4 "i"'ﬁﬁ "
Vi=2v V2=-lv, V3=+3v
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d Explain BIT as a switch. " 3 (L2 L Con
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3JalExplain the VI characteristics of SCR. 6 |L2|co2)
B rcuit shownbelow 8 L2 CO3
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e Design an op-amp circuit to get output voltage of 6 |L2|CO3

Vo= -(0.1V1+0.5V2+20V3). Select Rf=10kQ

' dExplain a simple application of a transistor switch. | § |L2]COl
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4/a Explain the working of SCR using two transistormodel 5 L2| CO2

b Explain the operation of op-amp as a nnn—inveni.ng_ 8 |2 CO3

| amplifier with a neat diagram and waveform.

and Vo2

¢ For an op-amp circuit shown find output voltage Voll 6 |L2|CO:

dIn+a transistor amplifier circuit determine the vﬁita
Iga:njg;:}d ac outout voltage if Vb=100mV, Rc=1kQ and
re'= :
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